Waterproof Positioning Switches with Stoppers
Flanged Cylinder / Screw / Flanged Screw

Water-Resistant Positioning Switches with Stoppers
Standard / Flanged / Screw / Flanged Screw / Ball Contact Screw

A Although this is a Drip-Proof Type, it is not suited for use in environment in which coolant or cutting chips may fall on the product. For Mechanical / Electrical Specifications and Precautions for Use, refer to P.2188. A Although this is a Drip-Proof Type, it is not suited for use in environment in which coolant or cutting chips may fall on the product. For Mechanical / Electrical Specifications and Precautions for Use, refer to P.2188.

Accessories: (MVSPM-L / LD Only)
Hex Nuts 2 pcs. (Thickness 3 Wrench Size 13)

Use within the contact ratings.

Do not pull or twist the cable

Material: Main Body: 416 Stainless Steel (45 HRC min.) with a force of 30 N or more.

m Toothed Washer 1 pc. Ball: 440C Stainless Steel (50 HRC min.)
7PanTNumher Stroke Operating Point Contact Force Allowablfogzsistance ShockErll!:rs;!s,tance Contact Mechanism | E:;tn?lli;nber
ype 4 -xamp MSTW-SD
MSTW MSTF-L
MSTF MSN-S
Center Vicinity NO MSNF-L
__MSN___ | e (Repeatability 0.01) CE SI00N o2} (Normally Open) MSPM-LD
MSNF
MSPM

(@ MSTW is not available with LD (LED).

2196 Y MiSUMi

There’s more on the web: misumiusa.com

Water-Resistant . ; - CabTi N Application itch — - .| Application
g MSTW-S Cable: Loose Wire MSTW-L Cable: CabTire @\ pp Waterproof Switch MSWEF-LD with Lep Cable: Cab Tire @\ pp
2 Conductors — 00.6 2 Conductors — 03 e Example Flanged Cylinder 2 Conductors — @3 Fd Example
() MSTW-SD with Lep L 0.5 m Oil Resistant L2 m, Oil Resistant /| T L 2m, Ol Resistant 4
- Min. Bending Radius 7R (IP67) Min. Bending Radius 7R o
& ( Jﬁk 3 Set Screw 3
3 ' . an"s"r‘\':iu"g V Groove 90°=111 MSWF ’ s
=1=1 & —
= . 33 b—— S8 .
d | & T ille—— :
=+ =gt = — - ~
‘En / Stroke 0.5_ || 8:003 Stroke 0.5_| 15:0.03 ot Serow V/ £ E Rubber Boot 5|7 ®
= - MSTF Stroke 0.3_] 11.5:008 =
g- . Material: Main Body: 416 Stainless Steel (45HRC min.) Z: / ; =9 g
@ Contact Part: 420 Stainless Steel (50HRC min. min.) < Material: Main Body: 416 Stainless Steel (45 HRC min.) Es 1]
(7] . . (72}
m m Contact Part: 420 Stainless Steel (50 HRC min.) Double Nut Tightened
Water-Resistant MSTF-S Cable: Loose Wire MSTF-L Cable: Cab Tire i MSNW
witch ~ Flanged - : - ‘ _ Waterproof Switch — ) . ' MSNW-L P
X ctors - c -SD wi : :
sIPM g _ 2 Conductors — 00.6 . 2 Conductors — 03 =< MSNW-SD with LEp  Cable: Loose Wire Cable: Cab Tire
(IP44) MSTF-SD with Lep Lo5m Oil Resistant  MISTF-LD with LED L 2 m, Oil Resistant Screwed-in = Screw (IP67) 2 Conductors— 006 [ISNW-LD with LeD 5 Conductors — 83
Min. Bending Radius 7R MSN / MSPM |7 L 0.5m Oil Resistant L 2m, Oil Resistant
{FEH 5 J,ﬁk 3 Rubber Boot Rubber Boot Min. Bending Radius 7R =
V Groove 90° V Groove 90° -~ ) W M10x0.75 M10x 0.75
:.:gc‘ ?g’ gft e  p——————— //' = L _ pp—
S, sls B & — .
= 51 7 m N\% o8 - Screwed-in
Stroke 0.5 Screwed-in ﬁ : =~ : 15 MSNWF
roke 0.5_|8-003 MSNF . Z Stroke 0.3 | 11.5:008 Stroke 0.3 | 19.5-0.08
Material: Main Body: 416 Stainless Steel (45 HRC min.) = ) . . ) i i .
Contact Part: 420 Stainless Steel (50 HRC min.) m Accessories: Hex Nuts 2 pcs. (Thickness 3 Wrench Size 13)  Material: Main Body:l416 Stainless Steel (4§ HRC min.) .
(MSNW-L /LD Only)  Toothed Washer 1 pc. Contact Part: 420 Stainless Steel (50 HRC min.)
Water-Resistant MSN-S Cable: Loose Wire MSN-L Cable: Cab Tire H:
Switch — Screw (IP44) 2 Conductors — 00.6 2 Conductors — 03 = Waterproof Switch — ) . ;
- : 1 Reci . il Regi Cable: Loose Wire MSNWF-L Cable: Cab Tire
MSN-SD with LED L0.5m il Resistant ~ [VJSN-LD with LED L2m.0i iﬁegs}fiﬁ?ﬁs . 7z Flanged Screw MSNWE-S 3 Concrs 005 \ISNWE-LD withLep ?Condctrs 03 7,
' - i L 0.5m Oil Resistant - m, Oil Resistan!
@_/ 07 MI0x0.75 07 M10075 (IP67) MSNWE-SD with Lep Min. Bending Radius 7R
== n Rubber Boot  M10 (Coarse Thread)
| (A \ ] . Rubber Boot M10 (Coarse Thread) ~_
\,/ wI :% °°If o) —————3 Structure of Drip-Proof Type (IP44) P @ . Structure of Water-Proof Type
‘ - <~ I S —————% P67
@ﬂs . Rubber (o) 2| dti S
\ 4 Stroke 0.5 ||80.03] Stroke 0.5 || 15+0.03 Contact Piece ; (/) = I_ u
) = (Hardened Steg) /" 2P"0™ 10 S (Hardened Stee)
/ Accessories: (MSN-L /LD Only) N ) _ 50HRC A" 0 Stroke 0.3 12 50HRC
Hex Nuts 2 pcs. (Thickness 3 Wrench Size 13) Material: Main Body: 416 Stamlgss Steel (45 HRC mln.)l ¥ Stroke 0.3 | 5 75008
m Toothed Washer 1 pc. Contact Part: 420 Stainless Steel (50 HRC min.) 8 7.5+0.08 e B
— Material: Main Body: 416 Stainless Steel (45 HRC min.)
&"x}fc’;.“"iii‘:;e‘d MSNF-S Cable: Loose Wire a0 MSNF-L Gable: Cab Tire 0 7 S RokS 10} Contact Part: 420 Stainless Steel (50 HRC min.)
- onductors — @0. onductors — 4
Screw (IP44) MISNF-SD with LED L05mOil Resistant ~ [VISNIF-LD with LED L 2 m, Ol Resistant Stopper Surface Stopper Surface
M10 (Coarse Threac) Win. Bending Radius 78 (Hardened Stecl) 45HRC Part Number Shook Available Types Rubber Boot  (Hardened Steel) 45HRC
M10 (Coarse Thread) oarse Threa Contact Piece Stroke | OPerating oo rorce| Allowable | o 208t | Contact S “sp n o Contact Piece
S | ﬁ ] R2.5 Type Point Static Load Energy Mechanism Stopping Position
ol 2 o) 2| Tt || S L— 1-9 10-20| 1-9 |10-20| 1-9 |10-20| 1-9 |10-20
s ESE* Sl Operating Forcey: Ro
ol = © Material: MSWF - _ T =T=T=1T=7T.7- o5
10 58 ) ) N e Center Vicinity NO X( ||
‘ Stroke 0.5_| | 12 Main Body: 416 Stainless Steel MSNW 03 | (Repeatabilty| 1N 3000N 02 ey [=T=]clclelloleole N
Stroke 0.5 5 : (45 HRC min.) : : E— 0.01) 0| T
1 3.0.03 ) Operating Location MSNWF pen) . R . . . . . .
3:003 = Contact Part: éQOU:;%"“?SS) Steel Stroke 0.5 | |(Stroke Center Vicinity) Operating Location
min.,
Part Number 0.3 | |(Stroke Center Vicinity)
Water-Resistant - Cable: Loose Wire - Cable: Cab Tire Example X Stroke!
Switch - Ball Contact MSPM-S 2 Conductors — 00.6 MSPM-L 2 Conductors — 03 4 mgmw;s ( )
Screw (IP44) MSPM-SD witn Len Lo.5m il Resistant ~ [VISPIVI-LD with LED L2 m, Oil Resistant
» iy Min. Bending Radius 7R Operating Location
- M10x0.75 . M10x0.75 (Stroke Center Vicinity) - . .
8. - gmﬂ* Stoke 05 Applicable to “with LED” Type Contact Method of Detected Subject (Common)
s <g 5
= 2 B > ——————%- . "
® }:@g} Egji: :Y: w]:@g} == Cord: Loose Wire (-SD) Cord: Cab Tire (-LD) Except Ball Contact Type Ball Contact Type
Stroke 0.5_| T1=003 | Stroke 0.5_| 182008 © L o GoLamn_ (Angular misalignment within =3°) (All Directions)
Switch S In Operation g whon 2 in Operation

= — ——/—— — = Wrong Wrong Right

Use within the contact ratings.
Do not pull or twist the cable with a force of 30N or more.

/ / o ] Ny o
L m 2 120 s %? %Rmmi

Wrong— % g Right — Z 4]:' Right — §4:|
-7 2
i Relief Ring

Wrong

Check out misumiusa.com for the most current pricing and lead time. 2197



